
 T (ns)∆TOF 
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 / ndf 2χ  6.211 / 9

Constant  8.9± 257.5 
Mean      0.00360±0.01073 − 
Sigma     0.0034± 0.1185 

=143, p=[7.0,9.0]σ

 KinFit MC+π

 KinFit Data+π

 T (ns)∆TOF 
2− 1.5− 1− 0.5− 0 0.5 1 1.5 2
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 / ndf 2χ  7.212 / 9

Constant  8.4± 241.3 

Mean      0.004009±0.002479 − 

Sigma     0.0041± 0.1294 

=143, p=[7.0,9.0]σ

 KinFit MC-π

 KinFit Data-π

 T (ns)∆TOF 
2− 1.5− 1− 0.5− 0 0.5 1 1.5 2
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300

 / ndf 2χ  13.65 / 9

Constant  21.2± 216.6 

Mean      0.010333± 0.009565 

Sigma     0.0121± 0.1266 

 / ndf 2χ  13.65 / 9

Constant  21.2± 216.6 

Mean      0.010333± 0.009565 

Sigma     0.0121± 0.1266 

 T (ns)∆TOF 
2− 1.5− 1− 0.5− 0 0.5 1 1.5 2

0

50

100
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200

250

 / ndf 2χ  14.09 / 9

Constant  18.9± 217.9 
Mean      0.010085± 0.004751 
Sigma     0.0095± 0.1268 

 / ndf 2χ  14.09 / 9

Constant  18.9± 217.9 
Mean      0.010085± 0.004751 
Sigma     0.0095± 0.1268 


	Contents
	Page 1


